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	Practice

a) 24 + 35 = 59

b) 13 + 29 = 42

c) 25 + 17 = 42

d) 33 + 18 = 51

e) 48 + 14 = 62

f) 27 + 25 = 52

g) 14 + 34 = 48
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	Reasoning

Jack has not lined his numbers up in the correct place value columns.

Eva is not correct because she forgot to carry her 10 ones into the tens column. That means the tens column should add up to 90 not 80.
The answer should be 292.
	Problem solving
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	No exchange
	Exchange 10 ones
	Exchange 10 tens

	910+79

342+35
	375+18

456+27

912+79
	456+72
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376 +415=791
428 + 357 =785
660 + 257 = 917
119 + 376 = 495
377 +241=618
656 + 118 =774
303 +479 =782
671+ 152 =823
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Sort the additions into the table.

No Exchange | Exchange
exchange | 10ones | 10tens
375+18 456 +72 912 +79
910 +79 456 + 27 342+ 35

Can you write 2 more additions in each

column?
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